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19. Laila has 4 dogs. Each of the 4 dogs weighs an integer number of kg. No two
of them weigh the same. Their total weight is 60 kg. The second heaviest
dog weighs 28 kg. How heavy is the third heaviest dog?
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2 kg 3 kg 4 kg 5 kg 6 kg
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20. Mayar writes the seven numbers 3, 4, 5, 6, 7, 8, and 9 in the circles in the
picture so that the sums of the three numbers on each line are equal. What
Is the largest possible sum of three numbers on a line that mayar can get?
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21. Some glasses are stacked on top of each other. A stack of 8 glasses is 42 cm
high and a stack of 2 glasses is 18 cm high. How high is a stack of 6 glasses?
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22. In the picture above, each animal represents a positive integer and different
animals represent different integers. The sum of the two integers in each
column is written below that column. What is the largest possible sum of the

four integers in the first row?
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23. To unlock this lock, you get the following four hints.
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One of these digits Two of these digits All of these digits are
Is correct but in the

are correct but in the incorrect
wrong place wrong place

One of these digits
is correct and in the
right place

What is the correct code for the lock?
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24. Layan has the shape shown above. Which of the following shapes is the

MY

same as layan’s?







